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All Inclusive IAS  –  CSAT through PYQs

Class-13 Explanation video in English ह दंी में स्पष्टीकरण वीडियो ➔

Permutation Combination
Follow these steps in all P&C questions:
1. Find number of vacant places
2. Find the filler material
3. Fill the things as per given conditions
4. Find identical things

➢ If 2 things are identical, divide by 2!
➢ If 3 things are identical, divide by 3!
➢ And so on…

5. Keep in mind “and” vs “or” (Multiplication vs Addition)

In a tournament of Chess having 150 entrants, a player 
is eliminated whenever he loses a match. It is given 
that no match results in a tie/draw. How many 
matches are played in the entire tournament?  
(a) 151     (b) 150      (c) 149     (d) 148 

150 प्रतियोतियों वाली तिसी शिरजं टूर्ाामेंट में जब-जब िोई

तिलाडी बाजी हारिा है, उसे बाहर िर तिया जािा है । यह तर्तिि

तिया िया है ति िोई भी बाजी बराबरी (टाई/ड्रॉ) पर तर्र्णीि र्हीं

होिी । इस पूरे टूर्ाामेंट में तििर्ी बातजयााँ िेली िई?

(a) 151 (b) 150  (c) 149 (d) 148 

After 1st match → 1 player is out
After 2nd match → 1 more player is out (total 2 out)
After 3rd match → 1 more player is out (total 3 out)
…
After 148th match → 1 more player is out (total 148 out)
After 149th match → 1 more player is out (total 149 out)

पहले मैच िे बाि → 1 तिलाडी बाहर हो िया है

िूसर ेमैच िे बाि → 1 और तिलाडी बाहर हो िया (िुल 2 बाहर)

िीसर ेमैच िे बाि → 1 और तिलाडी बाहर हो िया (िुल 3 बाहर)

…

148वें मैच िे बाि → 1 और तिलाडी बाहर हो िया (िुल 148 बाहर)

149वें मैच िे बाि → 1 और तिलाडी बाहर हो िया (िुल 149 बाहर)

2020 Q-10 [set-A] Permutation Combination
How many five-digit prime numbers can be obtained by 
using all the digits 1, 2, 3, 4 and 5 without repetition of 
digits?   (a) Zero    (b) One     (c) Nine     (d) Ten 

पााँच अंिों िी तििर्ी अभाज्य संख्याएाँ अंिों 1, 2, 3, 4 और 5

िे द्वारा, तबर्ा अंिों िी पुर्रावतृि तिए हुए, बर्ाई जा सििी हैं?

(a) शून्य       (b) एि        (c) र्ौ       (d) िस 

1+2+3+4+5 = 15 
Hence, all 120 numbers will be divisible by 3.
Hence, no such prime number is possible.

1+2+3+4+5 = 15

अिः सभी 120 संख्याएाँ 3 से तवभातजि होंिी । 

अिः ऐसी िोई अभाज्य संख्या संभव र्हीं है । 

2021 Q-69 [set-A] Permutation Combination

There are 6 persons arranged in a row. Another person has 
to shake hands with 3 of them so that he should not shake 
hands with two consecutive persons. In how many distinct 
possible combinations can the handshakes take place?  
(a) 3       (b) 4        (c) 5       (d) 6 

एि पंति में 6 व्यति हैं । एि अन्य व्यति िो उर्में से 3 व्यतियों से इस

प्रिार हाथ तमलार्ा है ति वह िो क्रमािि व्यतियों से हाथ र्हीं तमलाएिा

। ऐसे तििर्े तभन्र् सभंाव्य सयंोजर्ों में हाथ तमलाए जा सििे हैं?

(a) 3 (b) 4  (c) 5 (d) 6 

ACE , ACF , ADF , BDFA      B      C      D      E      F

2022 Q-55 [set-A] Permutation Combination

There is a numeric lock which has a 3-digit PIN. The PIN contains digits 1 to 7. There is 
no repetition of digits.  The digits in the PIN from left to right are in decreasing order. 
Any two digits in the PIN differ by at least 2. How  many maximum attempts does one 
need to find out the PIN with certainty? (a) 6 (b) 8 (c) 10 (d) 12

एि संख्या-आधाररि िाला है, तजसिे तलए 3-अंि िी वैयतिि अतभज्ञार् संख्या (तपर्) है । तपर्

में 1 से 7 िि अंि हैं । िोई अंि िोबारा र्हीं आिा । तपर् िे अंि बाएं से िातहर्े िरफ घटिे हुए

क्रम में हैं । तपर् िे तिन्हीं िो अंिों िे बीच िम-से-िम 2 िा अंिर है । अतधििम तििर्े प्रयासों

में तपर् िा तर्तिि पिा लिाया जा सििा है? (a) 6 (b) 8  (c) 10 (d) 12 

753
752
751
742
741
731
642
641
631
531

7   6   5   4   3   2   1

सभी P&C प्रश्नों में इर् चरर्णों िा पालर् िरें :

1. िाली जिह तििर्ी है

2. भरर्े िे तलए सामार् तििर्ा है

3. प्रश्न िे अर्ुसार सामार् भरें

4. एि समार् चीजें ढंूढें

➢ यति िो चीजें समार् हैं, िो 2! से तवभातजि िरें

➢ यति िीर् चीजें समार् हैं, िो 3! से तवभातजि िरें

➢ और इसी िरह…

5. "और" बर्ाम "या" (िुर्णा बर्ाम जोड) िो ध्यार् में रिें

https://youtu.be/tPWNoc9PHUY
https://youtu.be/gHXiIpW9VfQ
https://youtu.be/gHXiIpW9VfQ
https://youtu.be/tPWNoc9PHUY
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On a chess board, in how many different ways can 
6 consecutive squares be chosen on the diagonals 
along a  straight path?     (a) 4    (b) 6     (c) 8    (d) 12 

2021 Q-64 [set-A] Permutation Combination एि तबसाि (शिरजं बोर्ा) पर एि सीधे पथ िी लबंाई में 

तविर्णों पर 6 क्रमािि विों िो तििर्े तवतभन्र् प्रिार से 

चयतर्ि तिया जा सििा है?  (a) 4 (b) 6  (c) 8 (d) 12 

1
2

3
4

5
6

7
8

1
2

3
4

5
6

7
8

1
2

3
4

5
6

7
8

Rod length Answer
1 8+8 = 16 ways
2 7+7 = 14 ways
3 6+6 = 12 ways
4 5+5 = 10 ways
5 4+4 = 08 ways
6 3+3 = 06 ways
7 2+2 = 04 ways
8 1+1 = 02 ways

2023 Q-48 [set-A] Permutation Combination

What is the number of selections of 10 consecutive  things 
out of 12 things in a circle taken in the clockwise  direction?  
(a) 3     (b) 11      (c) 12     (d) 66 

एि विृ िे रूप में व्यवतथथि 12 वथिुओ ं में से ितिर्णाविा

तिशा में 10 क्रमािि वथिुओ ंिे चयर्ों िी संख्या ्या है?  

(a) 3 (b) 11  (c) 12 (d) 66 
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Think of a long thread.
You can start it from any of the 12 numbers.
Hence, answer is 12.

If thread is of length (1,2,3….10,11), answer will still be 12.
But if thread is of length 12, then answer will be 1.

मार् लीतजए िी आपिे पास एि लंबा धािा है । 

आप इसे 12 र्ंबरों में से तिसी से भी शुरू िर सििे हैं ।

अिः, उिर 12 है ।

यति धाि ेिी लंबाई (1,2,3...10,11) हो , िो भी उिर 12 ही होिा ।

लेतिर् यति धाि ेिी लंबाई 12 हो, िो उिर 1 होिा ।

2018 Q-58 [set-A] Permutation Combination

There are 24 equally spaced points 
lying on the circumference of a circle. 
What is the maximum number of 
equilateral triangles that can be 
drawn by taking sets of three points 
as the vertices?  (a) 4 (b) 6  (c) 8 (d) 12 

तिसी विृ िी पररतध पर समार् िूरी पर 24

तबन्िुएाँ हैं । इर्में से शीर्ा िे रूप में िीर्

तबन्िुओ ं िे समचु्चयों से अतधििम तििर्े

समबाहु तिभुज बर् सििे हैं?

(a) 4 (b) 6  (c) 8 (d) 12 

Equilateral triangle divides the circle into 3 equal parts.
24 points →  24 ÷ 3 →  08 equilateral triangles
57 points →  57 ÷ 3 →  19 equilateral triangles 
15 points →  15 ÷ 3 →  05 equilateral triangles 
and so on….

समबाहु तिभुज विृ िो 3 बराबर भािों में तवभातजि िरिा है ।

24 अंि→ 24 ÷ 3→ 08 समबाहु तिभुज

57 अंि→ 57 ÷ 3→ 19 समबाहु तिभुज

15 अंि→ 15 ÷ 3→ 05 समबाहु तिभुज

और इसी िरह…



and

and4

1   +     1    +     1    +    1

4 x 3

or          or         or

3

1   +     1    +     1
or           or

आप तििर्े िरीिों से 1 आइसक्रीम और 1 तड्रंि चुर् सििे हैं

In how many ways, can you choose 1 ice-cream and 1 drink

4 3
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2019 Q-56 [set-A] Permutation Combination

Suppose you have sufficient amount of 
rupee currency in three denominations: 
₹1, ₹10 and ₹50. In how many  different 
ways can you pay a bill of ₹107?  
(a) 16     (b) 17      (c) 18     (d) 19 

मार् लीतजए, आपिे पास िीर् मलू्य-विों, ₹1, ₹10

और ₹50, में रुपया मदु्रा पयााप्त मािा में है । आप

₹107 िे एि तबल िा भुििार् तििर्े तवतभन्र्

िरीिों से िर सििे हैं?

(a) 16 (b) 17  (c) 18 (d) 19 1 + 6 + 11 = 18

₹ 50 ₹ 10 ₹ 1
2 0 Some
1 5,4,3,2,1,0 Some
0 10,9,8…2,1,0 Some

2023 Q-05 [set-A] Permutation Combination
In how many ways can a batsman score 
exactly 25 runs by scoring single runs, 
fours and sixes only,  irrespective of the 
sequence of scoring shots?  
(a) 18       (b) 19        (c) 20       (d) 21 

िोई बल्लेबाज िेवल एि रर् लेिे हुए व चौिे

और छ्िे मारिे हुए तििर्े िरीिों से ठीि-ठीि

25 रर् बर्ा सििा है, जबति रर् बर्ार्े िा िोई

भी अर्ुक्रम हो सििा है ?

(a) 18 (b) 19  (c) 20 (d) 21 

Sixes Fours Singles
4 0 Some
3 1,0 Some
2 3,2,1,0 Some
1 4,3,2,1,0 Some
0 6,5,4,3,2,1,0 Some

1 + 2 + 4 + 5 + 7 = 19

2022 Q-27 [set-A] Permutation Combination

A B

C

R1
R2
R3

R4
R5
R6
R7

R8

R9

R10

Routes to go from A to C

R8
R9
R10

R1 – R4
R1 – R5
R1 – R6
R1 – R7

R2 – R4
R2 – R5
R2 – R6
R2 – R7

R3 – R4
R3 – R5
R3 – R6
R3 – R7

3 ways 4 ways 4 ways 4 ways

3 ways
A B C

4 ways
3 x 4 = 12 ways

3 ways
A C 3 ways

3 + 12 = 15 ways

A, B and C are three places such that there are three  
different roads from A to B, four different roads from  B 
to C and three different roads from A to C. In how  
many different ways can one travel from A to C using  
these roads?     (a) 10      (b) 13       (c) 15       (d) 36 

A, B और C िीर् थथार् इस प्रिार है ति A से B िे तलए िीर् तभन्र् 

राथिे हैं, B से C िे तलए चार तभन्र् राथिे हैं और A से C िे तलए िीर् 

तभन्र् राथिे हैं । इर् राथिों िा प्रयोि िर िोई व्यति तििर्े तभन्र्

मािों से A से C िि जा सििा है?  (a) 10 (b) 13  (c) 15 (d) 36 

A X

A Y

A Z

B X

B Y

B Z

C X

C Y

C Z

D X

D Y

D Z

3

3

3

3

4  x  3 = 12

and

4

1   +     1    +     1    +    1

4 x 3 x 2

4 x 3 x 2  = 24

or          or         or

3

1   +     1    +     1
or           or

आप तििर्े िरीिों से 1 आइसक्रीम , 1 तड्रंि , और एि तचप्स चुर् सििे हैं

In how many ways, can you choose 1 ice-cream, 1 drink, 1 chips

4 3

and

2

1    +     1
or

2and and

6
2
2
2

6
2
2
2

6
2
2
2

6
2
2
2

A X

A Y

A Z

B X

B Y

B Z

C X

C Y

C Z

D X

D Y

D Z

P
Q

P
Q

P
Q

P
Q

P
Q

P
Q

P
Q

P
Q

P
Q

P
Q

P
Q

P
Q
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Practice question:  A question 
paper has 100 MCQ. Each question 
has 4 options, out of which only 1 is 
correct. In how many ways can the 

question paper be answered?  4100 

How many ways?  2 x 2 x 2 x 2 x 2 x 2 = 64

Drink:  Pepsi  Fanta
Soup:  Tomato  Sweet corn
Dal:  Makhni  Tadka
Paneer:  Kadhai  Lababdar
Bread:  Naan  Kulcha
Sweets:  Ice cream  Gulab jamun

Deciding menu for birthday party.
Select one from each category.

Ways?  2 x 2 x 2 x 2 x 2 = 32

Q 1  True  False
Q 2  True  False
Q 3  True  False
Q 4  True  False
Q 5  True  False

5 questions in exam.
Select True or False Useful tip:  

21 = 2   
22 = 4  
23 = 8  
24 = 16  
25 = 32  

26 = 64  
27 = 128
28 = 256  
29 = 512  
210 = 1024

एि प्रश्न पि में 100 MCQ हैं।

प्रत्येि प्रश्न में 4 तविल्प हैं,

तजर्में से िेवल 1 सही है। प्रश्न

पि िा उिर तििर्े प्रिार से

तिया जा सििा है? 4100

2016 Q-40 [set-A] Permutation Combination एि प्रश्न-पि में पााँच प्रश्नों पर प्रयास तिए जार्े हैं और प्रत्येि प्रश्न

िे उिर िे िो तविल्प हैं- सही (T) अथवा िलि (F) । यह तिया

िया है ति तिन्हीं भी िो परीिातथायों र्े पााँचों प्रश्नों िे उिर

एिसमार् अर्ुक्रम में र्हीं तिए हैं । ऐसा होर्े िे तलए परीिातथायों

िी अतधििम संख्या तििर्ी है?

(a) 10 (b) 18  (c) 26 (d) 32 

In a question paper there are five questions to be 
attempted and answer to each question has two choices 
- True (T)  or False (F). It is given that no two candidates 
have given the answers to the five questions in an 
identical  sequence. For this to happen the maximum 
number of  candidates is:  (a) 10 (b) 18  (c) 26 (d) 32 

____       ____       ____        ____       ____
2 ways     2 ways        2 ways      2 ways      2 ways

T/F           T/F          T/F          T/F          T/F
2 x 2 x 2 x 2 x 2 = 32 ways

2022 Q-76 [set-A] Permutation Combination

One non-zero digit, one vowel and one consonant from  English 
alphabet (in capital) are to be used in forming  passwords, such 
that each password has to start with  a vowel and end with a 
consonant. How many such  passwords can be generated?  
(a) 105       (b) 525        (c) 945       (d) 1050 

एि शरू्ू्येिर अंि, अंग्रजेी वर्णामाला से एि थवर और एि 

व्यंजर् (िैतपटल  में) पासवर्ा बर्ार्े में इस िरह प्रयुि तिए 

जार्े हैं ति हर पासवर्ा थवर से शुरू हो और व्यंजर् पर समाप्त 

हो । ऐसे तििर्े पासवर्ा बर्ाए जा सििे  हैं?  

(a) 105 (b) 525  (c) 945 (d) 1050 

____            ____                  ____
5 

vowels
5 x 9 x 21  =  945 ways9

digits
21 

consonants

2020 Q-67 [set-A] Permutation Combination

How many different 5-letter words (with or without  meaning) can be 
constructed using all the letters of  the word ‘DELHI’ so that each word 
has to start with  D and end with I?   (a) 24     (b) 18      (c) 12     (d) 6 

शब्ि ‘DELHI’ िे सभी अिरों िा प्रयोि िरिे हुए तििर्े तवतभन्र् 5-अिरी शब्ि

(तजर्िा िोई अथा हो या र् हो) बर्ाए जा सििे हैं, जबति प्रत्येि शब्ि D िे साथ

शुरू होिा है और I िे साथ समाप्त होिा है? (a) 24 (b) 18  (c) 12 (d) 6 

____       ____       ____       ____      ____
Fixed       3 ways        2 ways      1 way       Fixed

3 x 2 x 1 = 6 ways

D I

E,L,H

any one of the 3 colors

except color of just above stripe, any one of the remaining 2 colors

except color of just above stripe, any one of the remaining 2 colors

except color of just above stripe, any one of the remaining 2 colors

2023 Q-66 [set-A] Permutation Combination

3 x 2 x 2 x 2 = 24

A flag has to be designed with 4 horizontal stripes using 
some or all of the colours red, green and yellow. What is 
the number of different ways in which this can  be done so 
that no two adjacent stripes have the same colour?
(a) 12       (b) 18        (c) 24       (d) 36 

तिसी ध्वज िो लाल, हरे या पीले रिंों में से िुछ या सभी रिंों

िा उपयोि िर चार िैतिज परियों द्वारा परररूतपि िरर्ा है।

तििर्े ऐसे तवतभन्र् िरीिों से इसे तिया जा सििा है, इस

प्रिार िी िोई भी िो आसन्र् परियााँ एि ही रिं िी र् हों?

(a) 12 (b) 18 (c) 24 (d) 36 

3 रिंों में से िोई एि

ठीि ऊपर पिी िे रिं िो छोडिर, शेर् 2 रिंों में से िोई एि

ठीि ऊपर पिी िे रिं िो छोडिर, शेर् 2 रिंों में से िोई एि

ठीि ऊपर पिी िे रिं िो छोडिर, शेर् 2 रिंों में से िोई एि
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2018 Q-62 [set-A] Permutation Combination

For a sports meet, a winners’ stand comprising three  
wooden blocks is in the following form:

एि िेल प्रतियोतििा िे तलए लिडी िे िीर् िण्र्िों िो 

तमलािर बर्े तवजेिा-मचं िा आिार र्ीचे तिया िया है :

1st block →   any one of the 6 colours
2nd block →  any one of the remaining 5 colours
3rd block →   any one of the remaining 4 colours
6 x 5 x 4 = 120

There are six different colours available to choose from  
and each of the three wooden blocks is to be painted 
such that no two of them has the same colour. In how 
many  different ways can the winner’s stand be painted? 
(a) 120       (b) 81        (c) 66       (d) 36 

उपलब्ध छः तवतभन्र् रिंों में से रिं चुर्र्े हैं और लिडी िे िीर्ों

िण्र्िों में से प्रत्येि िो इस प्रिार रिंा जार्ा है ति िोई भी

िो िण्र्िों िा रिं एि समार् र् हो । तवजेिा-मचं िो तििर्े

अलि-अलि िरीिों से रिंा जा सििा है?

(a) 120 (b) 81 (c) 66 (d) 36

पहला िंर् →  6 में से िोई भी एि रिं 

िूसरा िंर् → बचे हुए 5 में से िोई भी एि रिं 

िीसरा िंर् → बचे हुए 4 में से िोई भी एि रिं 

6 x 5 x 4 = 120

Practice question:  9 cups are to be placed on a table
(a) arranged in a line
(b) arranged in equal number of rows and columns
In how many ways can they be arranged ?

तिसी मजे पर 9 प्याले इस िरह सजािर रिर्े हैं ति

(a) वे सभी एि ही रिेा में हो

(b) उर्िी पंतियों और िॉलमों िी संख्या समार् हो

इन्हें तििर्ी प्रिार से इस िरह रिा जा सििा है ?

9 places 9 Cups

A B C

D E F

G H I

A B C D E F G H I9 cups →

__    __    __    __    __    __    __    __    __9 places →

Answer:  9!

9 cups (6 coffee, 3 tea) are to be placed on a table: 
(a) arranged in a line
(b) arranged in equal number of rows and columns.
In how many ways can they be arranged ?

मजे पर 9 प्याले (6 िॉफी, 3 चाय) इस िरह रिर्े हैं ति

(a) वे सभी एि ही रिेा में हो

(b) उर्िी पंतियों और िॉलमों िी संख्या समार् हो

इन्हें तििर्ी प्रिार से इस िरह रिा जा सििा है ?

9 places 9 Cups

A A A

A A A

B B B

A A A A A A B B B9 cups →

__    __    __    __    __    __    __    __    __9 places →

Answer: 9!
6! x 3!

=  84

2022 Q-77 [set-A] Permutation Combination
There are 9 cups placed on a table arranged in equal  
number of rows and columns out of which 6 cups contain  
coffee and 3 cups contain tea. In how many ways can they 
be arranged so that each row should contain at least one 
cup of coffee?       (a) 18      (b) 27       (c) 54      (d) 81 

तिसी मजे पर 9 प्याले इस िरह सजािर रिे हैं ति उर्िी

पंतियों और िॉलमों िी संख्या समार् है। इर्में से 6 प्यालों में

िॉफी और 3 प्यालों में चाय है। इन्हें तििर्ी प्रिार से इस िरह

रिा जा सििा है ति प्रत्येि पंति में िम-से-िम एि िॉफी िा

प्याला हो? (a) 18 (b) 27 (c) 54 (d) 81 

If every cup is unique, total ways = 9!

6 coffee cups are identical, so divide by 6!
3 tea cups are identical, so divide by 3!
Total ways  =  9! ÷ (6! x 3!)  =  84

Three situations that we don’t want: 
- All 3 cups in 1st row are tea
- All 3 cups in 2nd row are tea
- All 3 cups in 3rd row are tea
So answer is  84 - 3 = 81

यति प्रत्येि िप अतद्विीय है, िो िुल िरीिे = 9!

6 िॉफी िप एि समार् हैं, इसतलए 6! से तवभातजि िरें

3 चाय िे िप एि समार् हैं, इसतलए 3! से तवभातजि िरें

िुल िरीिे = 9! ÷ (6! x 3!) = 84

िीर् तथथतियााँ जो हम र्हीं चाहिे :

- पहली पंति िे सभी िीर् िप चाय हैं

- िूसरी पंति िे सभी िीर् िप चाय हैं

- िीसरी पंति िे सभी 3 िप चाय हैं

िो उिर है 84 - 3 = 81



UPSC / PCS ©
अंग्रेजी और ह दंी में अलग-अलग वीडियो उपलब्ध  ैंSeparate explanation videos are available in English & Hindi

CSAT All Inclusive IASwww.allinclusiveias.com Class-13 Page-097

2015 Q-49 [set-A] Permutation Combination

A student has to opt for 2 subjects out of 5 subjects for a course, namely, 
Commerce, Economics, Statistics, Mathematics-I and Mathematics-II. 
Mathematics-II can be offered only if Mathematics-I is also opted. The 
number of different combinations of two subjects which can be opted is  
(a) 5       (b) 6        (c) 7       (d) 8 

एि तवद्याथी िो एि पाठू्यक्रम िे तलए 5 तवर्यों, र्ामि: वातर्णज्य, अथाशास्त्र,

सांतख्यिी, ितर्णि I और ितर्णि II में से 2 तवर्यों िो चुर्र्ा है। ितर्णि II िेवल िभी

चुर्ा जा सििा है जब ितर्णि I भी चुर्ा िया हो। िो तवर्यों िे चुर्े जा सिर्े वाले

संभव संयोजर्ों िी संख्या ्या है? (a) 5 (b) 6  (c) 7 (d) 8 

Practice question:
A student has to opt for 2 subjects out 
of 4 subjects for a course. The number 
of different combinations of two 
subjects which  can be opted is ?

एि तवद्याथी िो एि पाठू्यक्रम िे तलए 4

तवर्यों में से 2 तवर्यों िो चुर्र्ा है । िो तवर्यों

िे चुर्े जा सिर्े वाले संभव संयोजर्ों िी

संख्या ्या है ?

Method-1:
____       ____

4 ways     3 ways

4 subjects

4 x 3 ÷ 2 =  6 ways

But order does not 
matter, so divide by 2!

लेतिर् क्रम मायर्े र्हीं

रििा, इसतलए 2! से भाि िें

4C2  =  4! ÷ (2! x 2!)  =  6Method-2:
From 4, select 2

4 में से 2 चुर्ें

4C2  =  4! ÷ (2! x 2!)
       =  6 ways

C,E,S,M1M1,M2

+

1 way

Always, first allot the most 
constrained option.

 मेशा, सबसे प ले सबसे सीममत 
ववकल्प आवंहटत करें।

2015 Q-48 [set-A] Permutation Combination

A selection is to be made for one post of Principal and two 
posts of Vice-Principal. Amongst the six candidates called 
for the interview, only two are eligible for the post of 
Principal while they all are eligible for the post of Vice-
Principal. The number of possible combinations of 
selectees is    (a) 4     (b) 12      (c) 18     (d) None of the above 

प्रधार्ाचाया िे एि पि और उप-प्रधार्ाचाया िे िो पिों िे तलए 

चयर् होर्ा है। सािात्िार िे तलए बलुाए िए 6 उम्मीिवारों में से 

िेवल िो उम्मीिवार प्रधार्ाचाया िे पि िे तलए पाि हैं जबति उप-

प्रधार्ाचाया िे पि िे तलए व ेसभी उम्मीिवार पाि हैं । चुर्े जार्े 

वाले उम्मीिवारों िे सभी संभव संयोजर्ों िी संख्या ्या है?  

(a) 4 (b) 12  (c) 18 (d) उपयुाि में स ेिोई र्हीं 

P V  1and V  2and

2 5 4

A B C D E F

Principal: Select 2 out of 1    =  2C1 

 Vice-Principal: Select 2 out of 5    =  5C2

Method-2-Method-1-

प्रधानाचायय : 2 में से 1 चुनो =  2C1 

उप- प्रधानाचायय : 5 में से 1 चुनो =  5C2

2C1

5C2

2!
(2-1)!  x  1!

5!
(5-2)!  x  2!

2
1  x  1

5 x 4 x 3!
3!  x  2

=  2

=  10

=

=

=

=
5  x  4

2!
=  20  ways2  x 

2 x 10 = 20 ways

Principal Vice-Principal

Only 2 All 6

2 ways

5 ways

Given in 
question

Step-1  →

Step-2  → 4 ways

Total ways  →

Vice-Principal

All 6

2 ways 5 ways 4 ways

5  x  4
2!

=  20  ways2  x 
Two posts of VP are identical. So, divide by 2!

VP के दो पद एक जैसे  ैं। इसमलए, 2 से ववभाजजत करें।



UPSC / PCS ©
अंग्रेजी और ह दंी में अलग-अलग वीडियो उपलब्ध  ैंSeparate explanation videos are available in English & Hindi

CSAT All Inclusive IASwww.allinclusiveias.com Class-13 Page-098

2015 Q-69 [set-A] Permutation Combination
There are 5 tasks and 5 persons. Task-1 cannot be  assigned 
to either person-1 or person-2. Task-2 must be assigned to 
either person-3 or person-4. Every person is to be assigned 
one task. In how many ways can the assignment be done?  
(a) 6       (b) 12        (c) 24       (d) 144 

5 िाया है और 5 व्यति हैं । िाया-1, या िो व्यति-1 िो अथवा

व्यति-2 िो र्हीं तिया जा सििा । िाया-2, या िो व्यति-3 िो

अथवा व्यति-4 िो ही तिया जार्ा चातहए । हर व्यति िो एि

िाया तिया जार्ा है । िाया तििर्े िरीिों से तिया जा सििा है ?

(a) 6 (b) 12 (c) 24 (d) 144 

Always, first allot the most 
constrained option.

 मेशा, सबसे प ले सबसे सीममत 
ववकल्प आवंहटत करें।

2023 Q-68 [set-A] Permutation Combination
There are five persons P, Q, R, S and T each one of whom has 
to be assigned one task. Neither P nor Q can be assigned 
Task-1. Task-2 must be assigned to either R or S. In how 
many ways can the assignment  be done?  
(a) 6     (b) 12      (c) 18     (d) 24 

P, Q, R, S और T पााँच व्यति हैं, तजर्में से प्रत्येि व्यति िो

एि िाया सौंपर्ा है । िाया-1 र् िो P िो, र् ही Q िो सौंपा जा

सििा है । िाया-2 या िो R िो, या S िो ही सौंपा जार्ा है ।

िाया तििर्े प्रिार से सौंपे जा सििे हैं?

(a) 6 (b) 12 (c) 18 (d) 24 

2  x  2  x  3  x  2  x  1  =  24 ways

Task-1 Task-2 Task-3 Task-4 Task-5

R,S,T R,S

2 ways

2 ways

Given in 
question

Step-1  →

Step-2  →

3 ways 2 ways 1 way

Total ways  → 2 ways2 ways 3 ways 2 ways 1 way

Step-3  →

No two tasks or persons are identical. So, no need to divide by any factorial.

कोई भी दो कायय या व्यजतत एक जैसे न ीं  ैं। इसमलए, ककसी factorial से ववभाजजत करने क  जूररत न ीं  ै।

2022 Q-24 [set-A] Permutation Combination

The letters A, B, C, D and E are arranged in such a way  
that there are exactly two letters between A and E. How  
many such arrangements are possible?  
(a) 12 (b) 18       (c) 24        (d) 36 

वर्णा A, B, C, D और E इस िरह व्यवतथथि तिए िए है ति A 

और E िे बीच यथािथ्य िो वर्णा हैं । इस िरह तििर्ी व्यवथथाएाँ

संभव है ? (a) 12 (b) 18  (c) 24 (d) 36 

_ E _ _ A _
Two

letters

Third letter

_ E _ _ A

E _ _ A _

3! x 2!  =  12

3! x 2!  =  12

12 + 12  =  24

2017 Q-57 [set-A] Permutation Combination

If 2 boys and 2 girls are to be arranged in a row so that the girls 
are not next to each other, how many possible arrangements 
are there?  (a) 3    (b) 6     (c) 12     (d) 24 

यति 2 लडिों और 2 लडतियों िो एि पंति में इस व्यवथथा में िडा

िरर्ा हो ति लडतियााँ एि-िूसरे िे अिल-बिल िडी र् हों, िो

तििर्ी संभव व्यवथथाएाँ हो सििी हैं? (a) 3 (b) 6  (c) 12 (d) 24 

_ B _ B _

Two girls

Method-1. _ B   B

B _ B

B   B _

GG

GG

GG

2! x 2!  =  4

2! x 2!  =  4

2! x 2!  =  4

4 + 4 + 4 = 12

Method-2.

❖ There are 3 entities: Boy-1, Boy-2, Girls
❖ They can be arranged in 3! ways.
❖ Also, girls can be arranged within themselves in 2! ways.
❖ So answer = 3! X 2! = 12

❖ 3 चीजे हैं : लडिा-1, लडिा-2, लडतियााँ

❖ उन्हें 3 िरीिों से व्यवतथथि तिया जा सििा है

❖ वहीं, लडतियों िो 2 िरीिों से व्यवतथथि तिया जा सििा है

❖ िो उिर हुआ = 3!  x 2! = 12
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2021 Q-66 [set-A] Permutation Combination

Using 2, 2, 3, 3, 3 as digits, how 
many distinct numbers  greater 
than 30000 can be formed?  
(a) 3     (b) 6      (c) 9     (d) 12 

अंिों िे रूप में 2, 2, 3, 3, 3 िा 

प्रयोि िरिे हुए, 30000 से बडी

तििर्ी तभन्र् संख्याएाँ बर् सििी है?  

(a) 3 (b) 6  (c) 9 (d) 12 

When all digits are unique:  4!
Since digit “2” comes two times, divide by 2!
Since digit “3” comes two times, divide by 2!
Hence, answer is 4! ÷ (2! x 2!) = 6___      ___      ___      ___    ___

Fixed

3

2, 2, 3, 3

जब सभी अंि अतद्विीय हों : 4!

चूाँति अंि "2" िो बार आिा है, इसतलए 2! से भाि िें

चूाँति अंि "3" िो बार आिा है, इसतलए 2! से भाि िें

अिः, उिर होिा   4! ÷ (2! x 2!) = 6

2023 Q-19 [set-A] Permutation Combination

How many distinct 8-digit numbers can be formed by  
rearranging the digits of the number 11223344 such  that 
odd digits occupy odd positions and even digits  occupy 
even positions?  (a) 12        (b) 18          (c) 36         (d) 72 

संख्या 11223344 िे अंिों िो पुर्व्यावतथथि िर तभन्र्

8-अंिों िी तििर्ी संख्याएाँ बर्ाई जा सििी हैं, इस

प्रिार ति तवर्म अंि तवर्म थथार्ों पर हों और सम अंि

सम थथार्ों पर हों? (a) 12 (b) 18 (c) 36 (d) 72 

odd    even    odd    even    odd    even    odd    even odd    even    odd    even    odd    even    odd    even
any 4 any 3 any 2 any 1

4!
2! X 2! 

=  6

any 4 any 3 any 2 any 1

4!
2! X 2! 

=  6

6 x 6 = 36

2023 Q-65 [set-A] Permutation Combination
In an examination, the maximum marks for each 
of  the four papers namely P, Q, R and S are 100. 
Marks  scored by the students are in integers. A 
student can  score 99% in n different ways. What 
is the value of n?  (a) 16 (b) 17  (c) 23 (d) 35 

तिसी परीिा में, चार प्रश्न-पिों, र्ामि: P, Q, R और S में

से प्रत्येि प्रश्न-पि िे तलए अतधििम अंि 100 हैं।

तवद्यातथायों द्वारा प्राप्त तिए िए अंि पूर्णाांिों में हैं। िोई भी

तवद्याथी n तवतभन्र् िरीिों से 99% प्राप्तांि ला सििा

है। n िा मार् ्या है? (a) 16 (b) 17  (c) 23 (d) 35 

4 0 0 0 → 04 ways    4! ÷ 3!
3 1 0 0 → 12 ways    4! ÷ 2!
2 2 0 0 → 06 ways    4! ÷ (2! x 2!)
2 1 1 0 → 12 ways    4! ÷ 2!
1 1 1 1 → 01 way    4! ÷ 4!

Total = 35 ways   .

Maximum marks = 400
Marks obtained   = 396
Total 4 marks deducted 
from 4 subjects.

अतधििम अंि = 400

प्राप्त अंि = 396

4 तवर्यों से िुल 4 अंि िाटें हैं

In how many ways can you arrange ABCD ?  4!
In how many ways can you arrange ABBB ?  4! ÷ 3!
In how many ways can you arrange ABCC ?  4! ÷ 2!
In how many ways can you arrange AABB ?  4! ÷ (2! x 2!)
In how many ways can you arrange ABBC ?  4! ÷ 2!
In how many ways can you arrange AAAA ?  4! ÷ 4!

आप ABCD िो तििर्े िरीिों से व्यवतथथि िर सििे हैं? 4!

आप ABBB िो तििर्े िरीिों से व्यवतथथि िर सििे हैं? 4! ÷ 3!

आप ABCC िो तििर्े िरीिों से व्यवतथथि िर सििे हैं? 4! ÷ 2!

आप AABB िो तििर्े िरीिों से व्यवतथथि िर सििे हैं? 4! ÷ (2! x 2!)

आप ABBC िो तििर्े िरीिों से व्यवतथथि िर सििे हैं? 4! ÷ 2!

आप AAAA िो तििर्े िरीिों से व्यवतथथि िर सििे हैं? 4! ÷ 4!
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2023 Q-30 [set-A] Permutation Combination

ABCD is a square. One point on each of AB and CD;  and two 
distinct points on each of BC and DA are  chosen. How many 
distinct triangles can be drawn  using any three points as 
vertices out of these six  points?  (a) 16 (b) 18  (c) 20 (d) 24 

ABCD िोई विा है । AB और CD प्रत्येि पर एि तबिंु; और BC और

DA प्रत्येि पर िो तभन्र् तबिंु चुर्े जािे हैं । इर् छह तबन्िुओ ं में से तिन्हीं

िीर् तबन्िुओ ं िो शीर्ा ले िर तििर्े तभन्र् तिभुज िींचे जा सििे हैं ?

(a) 16 (b) 18  (c) 20 (d) 24 

6C3 = 6!
(6-3)!  x  3!

= 
6 x 5 x 4

3 x 2

=   20A B

D C

1

4

2

3

6

5

Practice question:
There are 24 equally spaced points lying on the circumference of a circle. 
What is the maximum number of triangles that can be drawn by taking 

sets of three points as the vertices?   Answer: 24C3 

2015 Q-74 [set-A] Permutation Combination

In a society it is customary for friends of the same sex to hug and 
for friends of opposite sex to shake hands when they meet. A 
group of friends met in a party and there were 24 handshakes. 
Which one among the following numbers indicates the possible 
number of hugs?     (a) 39       (b) 30        (c) 21       (d) 20 

तिसी समाज में यह ररवाज है ति एि ही तलंि िे तमि तमलिे समय  एि-

िूसर ेिे िले लि िर तमलिे हैं, और तवपरीि तलंि िे तमि तमलिे  समय 

एि-िूसर ेसे हाथ तमलािर तमलिे हैं। एि पाटी में तमिों िे एि  समूह िे 

तमलर्े पर 24 बार हाथ तमलाए िए।  तर्म्र्तलतिि में से िौर्-सी एि 

संख्या, िले लिर्े िी संभातवि संख्या इंतिि िरिी है?  

(a) 39 (b) 30  (c) 21 (d) 20 

M =  Males       F  =  Females

Hugs  =  MC2  +  FC2 

Handshakes  =  M x F = 24 → M F
1 24
2 12
3  8
4  6
6  4
8  3
12  2
24  1

2C2
2!

0! x 2!
=  1= 12C2

12!
10! x 2!

= 66=
12 x 11

 2
=

1 + 66 = 67
(not in options)

3C2
3!

1! x 2!
=  3= 8C2

8!
6! x 2!

= 28=
8 x 7

 2
=

3 + 28 = 31
(not in options)

4C2
4!

2! x 2!
=  6= 6C2

6!
4! x 2!

= 15=
6 x 5

 2
=

6 + 15 = 21

Hugs  =  2C2  +  12C2 

2 males,  12 females

Hugs  =  3C2  +  8C2 

3 males,  8 females

Hugs  =  4C2  +  6C2 

4 males,  6 females

एि विृ िी पररतध पर समार् िूरी पर 24 तबिंु हैं ।

िीर् तबिंुओ ं िे समूह िो शीर्ा मार्िर अतधििम

तििर्े तिभुज बर्ाए जा सििे हैं?

24C
3

2020 Q-60 [set-A] Permutation Combination

How many different sums can be formed with the 
denominations ₹50, ₹100, ₹ 200, ₹ 500 and ₹2,000 
taking at least three denominations at a time?  
(a) 16     (b) 15      (c) 14     (d) 10 

मलू्यविों ₹50, ₹100, ₹200, ₹500 और ₹2,000 िे साथ, एि

समय में िम-से-िम िीर् मलू्यविों िो लेिे हुए, तििर्ी तवतभन्र्

धर्रातशयााँ बर्ाई जा सििी हैं?

(a) 16 (b) 15  (c) 14 (d) 10 

Taking 3 denominations →

Taking 4 denominations →

Taking 5 denominations →

What if the denominations were 100, 200, 300, 400, 500 ?
Contribution of 300 can also be made by 100+200
Contribution of 500 can also be made by 200+300
Hence, you will have to write down all the possibilities, and 
see if a particular sum is obtained in more than one ways.

क्या होगा यदि मलू्यवगग 100, 200, 300, 400, 500 हो ?

300 िा योििार् 100+200 द्वारा भी तिया जा सििा है

500 िा योििार् 200+300 द्वारा भी तिया जा सििा है

इसतलए, आपिो सभी सभंावर्ाओ ंिो तलििर िेिर्ा होिा ति 

्या िोई तवशेर् रातश एि से अतधि िरीिों से प्राप्त हो रही है ।

Total = 16

5C3 = 10

5C4 = 5

5C5 = 1

3 मलू्यविों िो लो →

4 मलू्यविों िो लो  →

5 मलू्यविों िो लो  →

5C3 = 10

5C4 = 5

5C5 = 1

Total = 16



UPSC / PCS ©
अंग्रेजी और ह दंी में अलग-अलग वीडियो उपलब्ध  ैंSeparate explanation videos are available in English & Hindi

CSAT All Inclusive IASwww.allinclusiveias.com Class-13 Page-101

2017 Q-51 [set-A] Permutation Combination

How many numbers are there between 99 and 1000 such  that 
the digit 8 occupies the units place?  (a) 64 (b) 80  (c) 90 (d) 104 

99 िथा 1000 िे बीच ऐसी तििर्ी संख्याएाँ  हैं,  तजर्में अंि 8 इिाई  

थथार् पर है?  (a) 64 (b) 80  (c) 90 (d) 104 

0,1,2,3,4,5,6,7,8,9

____       ____     ____ 
9 ways     10 ways

9 x 10 = 90 ways

8

1,2,3,4,5,6,7,8,9

How many numbers are there between 100 and 300  
which either begin with or end with 2?  
(a) 110   (b) 111    (c) 112   (d) None of the above 

2016 Q-63 [set-A] Permutation Combination

100 और 300 िे बीच, 2 से शुरू होर्े वाली या 2 पर 

समाप्त होर्े वाली  तििर्ी संख्याएाँ हैं?  

(a) 110 (b) 111  (c) 112 (d) उपयुाि में से िोई र्हीं 

From 101 to 199

0,1,2,3,4,5,6,7,8,9

____       ____     ____ 
10 ways

10 + 100 = 110

21

From 200 to 299

100 ways

2019 Q-9 [set-A] Permutation Combination

The number of times the digit 5 will appear 
while writing the integers from 1 to 1000 is     
(a) 269   (b) 271    (c) 300   (d) 302 

यति 1 से1000 िि िे पूर्णाांिों िो तलिा 

जाए, िो अंि 5 तििर्ी बार  आएिा?  

(a) 269 (b) 271  (c) 300 (d) 302 

0 192
1 301

5  _  _ _  5  _ _  _  5 [9 x 9] x 3 = 243 In how many numbers does the 
digit 5 appear only once ? 243

In how many numbers does the 
digit 5 appear only twice? 27

5  5  _ _  5  5 5  _  5 9 x 3 x 2= 54
9 ways 9 ways 9 ways

9x9 ways 9x9 ways 9x9 ways

5  5  5 3
1 way

In how many numbers does the 
digit 5 appear thrice? 1

तििर्ी संख्याओ ंमें अंि 5

िेवल एि बार आिा है? 243

तििर्ी संख्याओ ंमें अंि 5

िेवल िो बार आिा है? 27

तििर्ी संख्याओ ंमें अंि 5 

िीर् बार आिा है? 1

2 300
3 300
4 300
5 300

6 300
7 300
8 300
9 300

2018 Q-36 [set-A] Permutation Combination

While writing all the numbers from 700 to 1000, how  
many numbers occur in which the digit at hundred’s  
place is greater than the digit at ten’s place, and the 
digit at ten’s place is greater than the digit at unit’s 
place?      (a) 61     (b) 64      (c) 85     (d) 91 

यति 700 से 1000 िि सभी संख्याएाँ तलिी जाए,ं िो ऐसी

तििर्ी संख्याएं आिी हैं तजर्में से िडे िा अंि, िहाई िे

अंि से िथा िहाई िा अंि, इिाई िे अंि से बडा है?

(a) 61 (b) 64  (c) 85 (d) 91 

6 + 5 + …. + 1 = 21 7 + 6 + 5 + …. + 1 = 28 8 + 7 + …. + 1 = 36

7  _  _ 

7  6  5,4,3,2,1,0  6 numbers
7  5  4,3,2,1,0     5 numbers
7  4  3,2,1,0        4 numbers
7  3  2,1,0            3 numbers
7  2  1,0               2 numbers
7  1  0                   1 numbers

8  _  _ 

8  7  6,5,4,3,2,1,0  7 numbers
8  6  5,4,3,2,1,0     6 numbers
…
8  1  0                   1 numbers

9  _  _ 

9  8  7,6,5,4,3,2,1,0  8 numbers
9  7  6,5,4,3,2,1,0     7 numbers
…
9  1  0                         1 numbers
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Practice question:
How many five-digit numbers can be obtained by using 
all the digits 1, 2, 3, 4 and 5 without repetition of digits?

पााँच अंिों िी तििर्ी संख्याएाँ अंिों 1, 2, 3, 4 और 5 िे द्वारा, 

तबर्ा अंिों िी पुर्रावतृि तिए हुए, बर्ाई जा सििी हैं?

1 , 2 , 3 , 4 , 5

____       ____       ____       ____       ____
5 ways     4 ways    3 ways   2 ways     1 way

5 x 4 x 3 x 2 x 1  =  120 ways

How many of them will be divisible by 5 ?

उन्मे से तििर्ी 5 से तवभाज्य होंिी ?

1 , 2 , 3 , 4

____       ____       ____       ____       ____
4 ways     3 ways    2 ways   1 ways

4 x 3 x 2 x 1  =  24 ways

5

How many of them will be divisible by 2 ? उन्मे से तििर्ी 2 से तवभाज्य होंिी ?

1 , 3 , 4 , 5

____       ____       ____       ____       ____
4 ways     3 ways    2 ways   1 ways

4 x 3 x 2 x 1  =  24 ways

2

1 , 2 , 3 , 5

____       ____       ____       ____       ____
4 ways     3 ways    2 ways   1 ways

4 x 3 x 2 x 1  =  24 ways

4

24 + 24 = 48

How many 3-digit natural numbers (without repetition 
of digits) are there such that each digit is odd and the 
number is divisible by 5?  (a) 8 (b) 12  (c) 16 (d) 24 

2022 Q-18 [set-A] Permutation Combination

3-अंि िी तििर्ी धर्पूर्णा सखं्याएाँ (अंिों िा प्रयोि िोबारा तिए

तबर्ा)  इस प्रिार होंिी ति सखं्या िा प्रत्येि अंि तवर्म हो और 

सखं्या 5 से  तवभाज्य हो?  (a) 8 (b) 12  (c) 16 (d) 24

1 , 3 , 5 , 7 , 9

____       ____       ____
4 ways     3 ways         1 way

5

1,3,7,9

4 x 3 x 1 = 12 ways

Odd digits →  तवर्म अंि

2022 Q-79 [set-A] Permutation Combination

What is the number of numbers of the form 0.XY, where X 
and Y are distinct non-zero digits?  (a) 72 (b) 81  (c) 90 (d) 100 

0.XY रूप िी तििर्ी सखं्याएाँ  हैं, जहााँ X और Y तभन्र् शून्येिर अंि हैं?  

(a) 72 (b) 27  (c) 54 (d) 81

1 , 2 , 3 , 4 , 5 , 6 , 7 , 8 , 9

____       ____ 
9 ways     8 ways 9 x 8 = 72 ways

2016 Q-72 [set-A] Permutation Combination

Four-digit numbers are to be formed using the digits 
1, 2, 3 and 4; and none of these four digits are 
repeated in any manner. Further,  
1. 2 and 3 are not to immediately follow each other  
2. 1 is not to be immediately followed by 3  
3. 4 is not to appear at the last place  
4. 1 is not to appear at the first place  
How many different numbers can be formed?  
(a) 6       (b) 8        (c) 9       (d) None of the above 

अिं 1, 2, 3 और 4 िो लेिर चार-अिंीय सखं्याएाँ बर्ार्ी हैं।

इर् चार अंिों में से तिसी एि िी भी तिसी भी रीति से

पुर्रावृति र्हीं िरर्ी है, िथा

1. 2 और 3 एि-िूसरे िे एििम आिे पीछे र्हीं हो सििे

2. 3, 1 िे एििम पीछे र्हीं हो सििा

3. 4 अंतिम थथार् पर र्हीं आ सििा

4. 1 प्रथम थथार् पर र्हीं आ सििा

तििर्ी पृथि सखं्याएाँ बर् सििी हैं?

(a) 6  (b) 8  (c) 9  (d) उपयुाि में से िोई भी र्हीं

In exam hall, think like this:
Maximum ways = 4! = 24
Condition (1) → can use formula 
Condition (2) → can count (3 ways)
Condition (3) → can use formula 
Condition (4) → can use formula 
There will be overlap in the four conditions.
So I will not minus the above results from 24.

2 1 3 4
2 1 4 3 

2 3 1 4
2 3 4 1

2 4 1 3
2 4 3 1 

3 1 2 4
3 1 4 2 

3 2 1 4
3 2 4 1

3 4 1 2
3 4 2 1

4 1 2 3
4 1 3 2

4 2 1 3
4 2 3 1

4 3 1 2
4 3 2 1

परीिा हॉल में इस िरह सोचें :

अतधििम िरीिे = 4! = 24

िथर् (1)→ सूि िा उपयोि िर सििे हैं

िथर् (2)→ तिर्िी िर सििे हैं (3 िरीिे से)

िथर् (3)→ सूि िा उपयोि िर सििे हैं

िथर् (4)→ सूि िा उपयोि िर सििे हैं

चारों तथथतियों में ओवरलैप होिा ।

इसतलए मैं उपरोि पररर्णामों िो 24 से र्हीं घटाऊंिा
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2019 Q-72 [set-A] Permutation Combination
0 sides black : 1 way
1 sides black : 1 way
2 sides black : 2 ways 
3 sides black : 2 ways
4 sides black : 2 ways
5 sides black : 1 way
6 sides black : 1 way

3 blacks can be 
adjacent to each 
other or in-line 
with each other

2 blacks can be 
adjacent to each 
other or opposite 

to each other

4 blacks can be 
adjacent to each 
other or in-line 
with each other

Each face of a cube can be 
painted in black or white  
colours. In how many 
different ways can the cube 
be  painted?  
(a) 9    (b) 10     (c) 11    (d) 12 

तिसी घर् िे प्रत्येि फलि िो

िाले या सफेि रिं से राँिा जा

सििा है । उस घर् िो तििर्े

तवतभन्र् िरीिों से राँिा जा सििा

है?

(a) 9 (b) 10 (c) 11 (d) 12 

3 काले एक िूसरे के 

बगल में या एक िूसर े

के साथ पंदि में हो 

सकते हैं

2 काले एक िूसर ेके 

बगल में या एक 

िूसर ेके दवपरीत हो 

सकते हैं

4 काले एक-िूसरे के 

बगल में या एक-िूसर े

के साथ पंदि में हो 

सकते हैं

0 black sides  1 black sides          2 black sides                    3 black sides                    4 black sides                  5 black sides                     6 black sides

Practice question:
Each face of a dice, numbered 1-6, can be in black or 
white. In how many ways can the dice be painted?
Answer: Each number(or face) can be painted in 2 

different ways. So, 2x2x2x2x2x2= 26 = 64

1-6 सखं्या वाले पासे िा प्रत्येि फलि िाले या सफेि रिं में हो 

सििा है। पासे िो तििर्े प्रिार से रिंा जा सििा है?

उिर: प्रत्येि सखं्या (या फलि) िो 2 अलि-अलि िरीिों से 

तचतिि तिया जा सििा है। िो, 2x2x2x2x2x2= 26
 = 64

2022 Q-10 [set-A] Permutation Combination

The digits 1 to 9 are arranged in three rows in such a way 
that each row contains three digits, and the number 
formed in the second row is twice the number formed in 
the first row; and the number formed in the third row is 
thrice the number formed in the first row. Repetition of 
digits is not allowed. If only three of the four digits 2, 3, 7 
and 9 are allowed to use in the first row, how many such 
combinations are possible to be arranged in the three 
rows?       (a) 4       (b) 3        (c) 2       (d) 1 

अंि 1 से 9, िीर् पंतियों में इस प्रिार व्यवतथथि तिए िए हैं ति

प्रत्येि पंति में िीर् अंि हैं, और िूसरी पंति में बर्ी संख्या

पहली पंति में बर्ी संख्या िी िोिरु्ी है; और िीसरी पंति में बर्ी

संख्या पहली पंति में बर्ी संख्या िी िीर् िरु्ी है। तिसी अंि िो

िो बार रिर्े िी अर्ुमति र्हीं है। यति चार अंिों 2, 3, 7 और 9

में से िेवल िीर् अंिों िो पहली पतंि में व्यवतथथि िरर्े िी

अर्ुमति हो, िो इर् िीर् पंतियों में व्यवतथथि िरर्े िे तलए ऐसे

तििर्े संयोजर् संभव हैं? (a) 4 (b) 3  (c) 2 (d) 1 

3 2 7
6 5 4
9 8 1

2 3 7
4 7 4

2 3 9
4 7 8
7 1 7

2 7 9
5 5 8

2 7 3
5 4 6
8 1 9

2 9 3
5 8 6
8 7 9

2 9 7
5 9 4

3 2 9
6 5 8
9 8 7

❖ First digit cannot be 7 or 9
❖ If first digit is 3, possible numbers are:

➢ 327 and 329
❖ If first digit is 2, possible numbers are:

➢ 237, 273,   239, 293,   279, 297

❖ पहला अंि 7 या 9 र्हीं हो सििा है ।

❖ यति पहला अंि 3 है, िो संभातवि संख्याएाँ हैं:

➢ 327 और 329

❖ यति पहला अंि 2 है, िो संभातवि संख्याएाँ हैं:

➢ 237, 273, 239, 293, 279, 297
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